A is twice as go0od a workman as B; and together they finish a work in
16 day. In how many days can it be done by each separately?

A, B 8 TRAT HASBT HTH T TTEAT 83 FR AT Feret 16 1377 7 7o e o s
Tl Tk SR RT SAeRT-37en T feohan famit & fora T w22

A. 24 days, 48 days

B. 22 days, 24 days
C. 23 days, 25 days

D. NOT




Wages of 10 women for 5 days is Rs. 1250. The daily wage of a man is twice
that of a woman. How many men must work for 8 days to earn Rs. 1600?

5 ot o foTg 10 wizeTent w61 3w % 1250 @i Tow T 3 Saw wfge & Srn
1 1600 0 FAM & forg fore gowt =t 8 fat o ferg v e enfRw 2

1) 5 men
2) 8 men
3) 4 men
4) 6 men




KL‘ 7, Supposlng t!at telegrap! poles on a ra!lway trac! are !!! meters apart,

how many poles will be passed by a train in 4 hours if the speed of the

train is 45 km an hour?

AT g 36 Yerd da R TeftaTe wier 50 We it g W E, A g drafa 45
Fereft wrfar eieT 819 W 4 ©e W foRae UieT i ¢ | TRTRT ST

(1) 3201 poles

(2) 3401 poles

{3) 3601 poles

(4) None of these




o A man can reach a certain place in 30 hrs. If he reduces his speed by 1/15, hé&=

covers 10 km less in that time. Find his speed.
T ATGHT 30 U W T T v X uge wehar #1 afs 37 srwet wfa @6 1/15
T AT B, a7 98 IHt awa # 10 fFt e s urar 81 sweht nfa v fif

(1) 4 km/hr.
(2) 5 km/hr.
(3) 5(1/2) km/hr
(4) 6 km/hr.




II' !
K - A

~—1 have to be at a certain place at a certain time and I find that I shall be 15 minutes too

How far have I to walk?

late, if I walks at 4 km an hour; and 10 minutes too soon, if I walks at 6 km an hour.

T3 o T T w s g W ager e ek g emar @ R H Rt

15 fore et & ugem svr i 4 Reeifier it w2 g8 ot 10 fome wedt arger

TS @R SR e 6 Terenfirey ufar e ot gt e we

(1) 3 km

) 5 km

3) 6 km
(4) 8 km




pﬁ-\

1

hree numbers are in the ratio E ; 2 . The difference between the greatest and ==

KL

the smallest number is 36. The number are —

?ﬁqw% % %%Gamnﬂfr%l TN T AN TN BT AT T AW 36 Bl aOv &7
z-

(1) 72, 84, 108
(2)60,72,96
(3) 72, 84, 96

(4) 72, 96, 108




AN

%of a number is equal to three seventh of another number. What is the ratio %=

TR e

..l"
e "-.
.-"

between the first number and the second number respectively?
Teh TG ohT 75% ORI AT o 3/7 oh SIS 2| SHUT: Tgeil HEAT SN e’l €&t o o=
R FATUTA FAT?

1) 4:7
2)7:4
3)12:7
4)7:12




SSC GD 2023

oA and B enter into a partnership for ayear. A contributes Rs.

P eldl ol

gooo and B Rs. 4000. After &

4 months, they admit C, who contributes Rs. 4500. If B withdraws his contribution after
6 months, how would they share a profit of Rs. 1000 at the end of the year?

A 3R B U U1 o foT0 arieift § Taor a3l A T AWEH & 3000 TR B 6T
% 4000. T G 4 HEA & TS, I C T TR A &, ST E 4500 T RIS
AT 1. Af2 B 6 7 % 912 AYAT ANEE AU AAT e, AT A S 1000 T ATH HI

HTAT AN, TN & Hq H?

(1) Rs. 250, Rs.200 Rs. 550
) Rs. 150, Rs. 200, Rs. 650

(3) Rs. 375, Rs. 250, Rs. 375

(4) None of these




\7;‘;;

KL_. )

PSita's present age is 6/5 times of her age at the time of her marriage and she got h:___:,...
married 6 years ago. Age of her son is 1/12 of her current age. Find the age of her

SOI.

YT Y ST W SHhY I o T R IH K 6/5 AT § SR IR I 6 AT UgA 73
offl SHeR U T STTY IHehT TAHTT T T 1/12 §l I8k A T 3H T TqT &MY

(1) 2 yrs. ,]
(2) Syrs.
(3) 4 yrs.
(4) 3 yrs.




¥/ How many kg. of salt at 42 P per kg. must a man mix with 25 kg of salt

at 24 P per kg, so that he may, on selling the mixture at 40 P per kg, gain
25% on the outlay?

fora R 42 p utar feremt & e & 91k 24 P ufa feret &% REmar @ 25
foReTl T o 1Y THEATET AR, ATich 98 40 P Ui fohett o Teama o fsror

e Heh, 3T 25% ohT BIAST &T?

1) 20

2) 30
3) 40
4) 50




fraction?

Tt foret forer & 31T 1 200% T TSTHT ATAT T 3T T T 400% TF TSTAT

SATAT &, A1 TRUTH ST 7377 1 (1/20) TIAT 21 7 19T T 212

711 the numerator of a fraction is increased by 200% and the denominator is

increased by 400%, the result ant fraction is 1 (1/20). What was the original

1) 1 (3/4)

2) 11/10
3) 6/5
4) 1 (1/2)




&2’ What is 27% of 36% of 5/9th of 45002
. 4500 3% 5 / 9th % 36% T 27% FATE?




—

increased by 60%, its volume will be decreased by-

¢ AT g, A 3TTIa feraT gre Smee 2

@ If the radius of a right circular cylinder is decreased by 50% and its height is

Ife MeTeRR fireiet ohi BT 50% a6 W B AT & 37K SHeh! S2Ts 60% ah

1) 40%

2) 43%
3) 30%
4) 45%




Fﬁﬁ\'ﬁ

7 1f a man estimates his loss as 20% of the selling price, then his loss

percent is —

It IS ATIHT U THETT T Tershl 7o o 20% & T W SFTATT ST
2, T SThT ThHT JT9Ta & -

1) 20%

2) 25%

3) 13 (1/3)%
4) 50/3%




7 The price of sugar falls down by 20% and a housewife is able to by 5 kg

more for Rs. 100. Find the original cost price of sugar in Rs. Per kg?

ST <Y R 20% ok TR AT & 3R Tk TR0t 100 393 7 5 foreram
3Tk TG W AW gt g1 <1 Y 7eT oIRTe Hed $ud § Wid fheir & §2

1)8
2) 9
3) 6

4)5




R

!i

¥/ At what % above the C.P. must an article be marked so as to gain 33%

after allowing a customer a discount of 5%.

T T | T % SR sifeha goa TamT anfRu atfer 5% wTagraa 33%

HT AT ?

1) 40

2) 45
3) 50
4) 90




/' A lent Rs. 600 to B for 2 years and Rs. 150 to C for 4 years and received

altogether from both Rs. 90 as simple interest. The rate of interest is —

| T 2HTA R TIU600FUT S | 3R 4ATA kR AT 150 TUTE F TR IAT
¥ 90 TUT TTYNUT SATH o ET H fHAT | AV SATH HT W E IR AT & TAME T

AT & - 1) 3%
2) 4%

3) 5%

4) 6%




per annum on the sum of Rs. 1000 after four years?

3{AT FT N AR GTA d1e?

@/ What will be the difference between simple and compound interest at 10%

1000 T Y T AT 10% T T hY T E ATAROT R A (o, SATH o ATl

1) Rs. 40.40

T —

2) Rs. 64.10

3) Rs. 31
4) Rs. 32.10



Find the average of all odd numbers up to 100?
100 ek <hT THT TorasT TEamati T 3NHd 31T ShileTu?




7 1f x + 1/x = 3 then the value of x* + 1/x* will be:

Afg x+1/x=3Fa x* + 1/ x* T A gA:




& Ifx + 1/4x = 3/2, then the value of 8x> + 1/8x? is:

. I x+1/4x=3/2, A8 + 1/ 8x* HTHI 2:




If x*x"x¢ = 1 then the value of a3 +b>+clis:




is equal to/ HATeT ATT Y ?

1) 2 sec’0
2) 2 cosec’0
3) 1%-sin0
4) 2 cos’0




®7 A iron rod is in the form of a square enclosing an area of 22 cm®. If the

same iron rod is bent into a circle, then find the area of that circle.

Ueh 18 hi BT 22 HI? % AT I B STl 1 o &T H gt g afe 36 o 6y
TS HI Ueh g H W AT AT 2, AT TAd hT AAF FTA hil

1) 24 cm?
2) 26 cm?
3) 28 cm’
4) 30 cm’




1+ 1 . 1 1
5.9 9,13 13. 17 """61.65

1) 4/45
2) 3/65
3) 2/35
4) 3/35




